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PART-III 

ECONOMICS-(HONOURS) 

Paper-V 

Duration : 4 Hours Full Mar ks : l 00 

I. 

Candidates are required to give their answers in their own words as far as practicable. 

The.figures in the margin indicate full marks. 

GROUP-A 

Answer any three _questions from the following 3 X 4 = 12 

a) Distinguish between physical and price definitions of factor abundance.

b) Define comparative advantage when labour is the only factor of production.

c) What is "Metzlers paradox" ?·

d) Is the identical technology assumption necessary for Stalper-Samuelson

Theorem?

�9ffi:I - �CT!G1�.:J �9f9fl�r.rfG �TC'B1 � 1re � ��"'lf '@�9f1.M �C41c4:J"M �� f<l5

<!1�'511�?

e) Distinguish between 'clear float' and 'dirty / managed float' of foreign exchange

rate regime.

91_9·�� �<!,·��I H$11Tu� �fol' C<lt� � � � �C<U 9fl�<PJ Rm"f
�ill .
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2 

3. 

Answer any one question } X 9 :: 9 

a) Derive the Marshal-Lerner condition for stability of equilibrium in international
. market.

b) Write a short note on foreign trade multiplier with foreign repercussion effect.

��� ���� '5l<t�H! 9frnt�,� �iSrW<f) <iffel� �'fr-� '69f� -!l<t$ ')"j'�N� fu<m
M�I

c) Show that in . Ricardian m�del, gains from trade of a country can be
decomposed into two parts.

� � �� �ogca, \?llT�<fi <rtfct\STJ C:�C<I> -!l<t>it CX<:'BI �'5C<l) ·� 'i5f(51 � � <ITT! I

Answer any three question 3 X }5 = 45 

Ql (:<j)i.1 �-fit � �� �� � 

a) U) , Show that there is a one- to-one correspondence between commodity

b) 

price ratio. and factor price ratio in absence of factor intensity reversal. 

\5�91111� �911�lc-r� AA��1� f<i91�� .. �:�r�1 .:i1 �<f)-C"'! \S�TC.f� �C9f�� �� �� 
\5�� � "ollt9f�<fl �� Ql <.!l'<!Slij ·f.1AA � '.?ill�� ��� I 

(ii) Analyse the possibility of factor price equalization (a) without" factor
intensity reversal. (b) with factor intensity reversal. 5 + 10

(i). 

\S��C:� \59fll-f"T.:i��� �CG'f.f.� �T� ��ft <Ul� �� ��- (<fS) \5�9M�� f.lf<ll.;i�HI
Fi���l �:"1�'5 (�) \5'�911�r.:rn ©911� w�\5f<f �� �1

What do you mean by devaluation of home currency ?

�01--ll �ij1� '5l<!f c.iffil.f ·-:r� f<j, C<!tC"�� ? .

(ii) Suppose rupee is devaluated against .dollar. How will this affect you if -

a) . You are an exporter of handicrafts to the USA ? b) y�u want to 
visit USA as tourist ?

�Crl <l)·�.:i. �� -,,rc9ft'* �<I \5l�ffir� \11''i I -!lf6 �9f"'rllr� �TC<! ��"TR� <is-�
911C� <IN (<15) '5119!� �n�-;i ��� �ffi�� BW1 �·@�<f>TI1<15 ��. (�) �� 91<11,� 
�C<I �� 1J�IDC't �W-1 <f)':-1'� �IT--! ? 

(iii) Do you think devaluation of home currency will necessarily improve
trade balance situation of that nation ?



1. 

(iv) 
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What is 'J-curve' phenomenon? 

'J - ��·· (ff:4'il ·MS ? 
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2 + (2 + 2) + 6 + 3

c) Define Balance of Payments equilibrium. How do you relate current account
deficit with government budget deficit and deficit in domestic private saving
investment sector?

�<Ii Cc'F'l-OR � � � W� ? ��� @r+0fc-1� � � � �
��� m�'1 �t ·� '{3 � )1'<13� f.W..rrnrlif �N>� � ��'{,> '51 �n� <Ii"� 1 

d) Why is the investment multiplier usually different in an open economy from
that in a closed economy ? Will there be similar difference in the following two 
cases?

a) . Balanc.ed budget multiplier

b) Investment multiplier when all imports are used only as intermediate
input for export promotion. 5 + 5 + 5 

'5lt�-�� tg�R>c\!) m�'f\5 MPlcm'>t �� � �.:J51� �? �� W6 c�\!3 -£1� 
� �<Fl� �1:<f � ? 

(<I>) �� 11_.:U � �'t<!i 

(�) �11,;n ��.:!i ��of) �<!J t�:�WfC-Bl <tSi'6� � �f<f� �11 -£1Qi9f � �m'51 
�'BfS I 

e) Write sh.ort notes on the following:

(i} Leontief Paradox in international trade 

(ii) Linkage between Spot and Forward market for foreign exchange.

m�m�moot���g 

(i) ��<Ii �iSIT � t'Gl\!,1)1 I

(ii) C<WtP'f<f) � '51�� '{3 � <ffiSTI@� � I

GROUP-B 

8+7 

Answer any three questions from the following 3 X 4;:; 12 

a) What are the characteristics of public goods ? How does it differ from that of 
private goods ?

��� ��p:r 't<ffift�M' � � ? �w.� ·�w�� c-�s c�c<ll .!l�M' �� Nf�'"11 ?
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2. 

3. 

b) State the· pro1?lems of defining 'income' for tax purpose.

c) In what way does the burden of internal debt differ from that of external debt ?

d) Define the concept of revenue deficit in a Government budget.

e) ls there any problem ·of taxing capital gain ?

Answer any one question 1 x 7 = 7 

. a) Show that a proportional income tax on work effort with marginal utility of 

income constant will definitely reduce work effort. 

� � t�'i'f �� � � C<l �911�<1S �<RI \511t:�TC� <FCG'f �� C<l1� � 

\!)l'q�-&1411 

b) Compare the effects of unit tax with those of an ad valorem tax of equal yield on

price and output of a firm under monopoly.

· �!r<fitf5'fGm <1>t�11c�� � �1� � -Q� ��� �-iiM� '5��� 91fumt:t '6 � 

� ��9ft11i{ -Q<R') � � <J>c41<l>C'4� � �9!�'1 '5JHl�M� ��� � � �

<i>iill<PC'� �¢1.:Jl�iii<fi '5lt� � I

Answer any one question lxl5=15 

a) Critically explain the ability to pay approach to taxation. Is income an adequate

index of ability to pay taxes of an.individual?

'� � �1' ����C<f> ��� )1001�19t--l<f>.N5fu �<IT!�� I� '5!111 f% ...
����<T�'i'IJ�?
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b) Distinguish between Direct tax and Indirect tax. Do you think that an indirect

tax imposes an excess burden on a typical consumer compared with a direct

tax of equal yield. 1 O ,: 5

� '6 9f� <t>'� 911�<15} �'rn �I����� .C<l �����"I
.� � C�l\$>Wt� '69Kf 151N>rn\$> � �<fl91 � ?
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B.A./B.Sc./B.Com. (Honours, Major, General) Examinations, 2012

PART-III 

ECONOMICS-(H'ONOU:RS) 

Paper-VI 

Duration : 4 Hours Full Marks: 100 

1. 

Candidates are required to give their answers in their own words as Jar as practicable. 

The figures in the margin indicate full marks. 

GROUP-A 

Answer. any st.x questions from the following 

a) Distinguish between marketed and marketable surplus of food gr.ains.

6 X 4 = 24 

b) Mention the reasons for deceleration in the rate of industrial growth in India

since mid-sixties.

c) Mention the features of Green Revolution in Indiari agriculture.

d} Write a short note on the impact of globalisation on Indian agriculture.

e) Mention the different met!lods of measuring poverty in India.
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0 Discuss the relationship between modern technology and regional disparity in 

Indian agriculture. 

g) Mention the reasons for monopoly in Indian industries.

�) � fim � l!lq,Cb� W� <f>�'1�� �� �� I

h) Which are the main shortcomings to the public enterprises in India.?

i) Write a short note on the concept of Inclusive Growth.

J) Distinguish between money niarkct and capital market in India.

) � �?:f �, �� <H\S?Wrn 9fl�� �Q:115.:t1 �;r I

GROUP-B 

Answer any two questions from the following 

2. Discuss the changes in Industrial policy in India since early Nineties.

2 X 8 = 16 

3. Discuss the problem of growth along with ·equity in the context of Indian economy.

�r�c�-� '¢1��-� c�rif.c� -r� '6 )f�.r1�H �,�� ">!).P·utro '5f!CG'fl6··n <ti�--1

4. Discuss the impact of economic reforms on poverty in India.

5. Write a note on the monetary policy of the RBI adopted in the recent years.
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GROUP-C 

Answer any four of the following questions 

Ql C-q,Tc-rf �;f � � 111'8 g 

4 X 15 = 60 

6: What are the major objectives of land r�forms in India ? How far these objectives are 
achieved - critically examine. 6 + 9 

�1��� ��� wrt.;i ��--n�M �a:r� �4>-1 1 \£1� ��"tl�M �'t� �� �� � 'If� �1t<r-
91<lfca,115.;i1 � I 

7. Write a detail note on the problem of unemployment in India.

8. Describe the problem of price movement in india in recent decades. Write a critical
note on the adopted policies to control this problem. 7 + 8

� �������<.if� �AA� �,;1nffl '51K<7flS--rt �-� <!l\ ��n ��t'1 '¥J'5 �-�

�� �G'ltb.;it�c,;rq5 �� M�

9. Write· a detail note on the issue of Direct and Indirect tax reforms adopted by the
Government of India in recent years. 15

�-:<15 ��ffi 'iS"l� ,rn� �� ,a 9f"c:� �� ������VJ 9fit�9f�M � '51
�f<r�f:.<f �� ��ii

I 0. Discuss the major objectives for the introduction of PDS of food grains in India. Write· 
a note on the proposed reforms· in PDS. 6 + 9 

� � � '>t"M"U.:{ <lJ<1�1 $G'j('of� �� \5�-'fJ�fc, i5f!C�l�-TI <:fi?f>rl I 'if'f<i-'i,.-r <IJ<f�1 ����� 
�9fef 9K5 �� �� \!l<mG sl<ti1 �� 

11. Discuss the India's balance. of payment position in recent .years. How has it been

affected by Global Financial Crises in recent time-analyse. 8+7 

� <1��k� �m\!)l'f CG1�1:'f� t�-0e� '51� '511CG11fi-TI <1>�.;i 1 <r�-{ �J� �<t> ��<f)t 
'6T�?:� Ci;<j.fQf.j �00 � ��i<l �c-�·�, 9f�ca-n1:,· .. n <f)�.q I 
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PART- III 

ECONOMICS - HONOURS 

Paper -VII 

Duration : 4 Hours l [ Full Marks : 100 

1. 

Candidates are required to give their answers in their own words as far as practicable. 

The figures in the margin indicate full marks. 

�'S � ���<f FfOOi� '5Blrn CC'f� <fl�� I 

21r� ,,-��n�M 91��rc� c�n\5� 1 

Group-A 

��-� 

Answer any three of the following questions : 

C<f C�i-l � 21V!l� ;:g� � 

a) Define a parameter.

3x4=12 

A simple random sample of size ? is drawn without replacement from a finite

population consisting of 41 units. If the standard deviation of population is 6-25,

what is the standard error of sample mean 'r> (Use finite population correction.)

l + 3

9ffi�ffej�� ��� � I 

41 t �<f)<!> AAi �-<f)� "f�' ��<p C�{<f) 5 �l9f f<rlirn ��re- �<fc'I' �.pi� �� ("f�-Qff''Sfif 

�1fuit�t<t>) ,,-\�� ��1 �G'f 1 � ��m� �<1> ·� 6-25 �. '5C<r .:{�""'1 i;r-� ��n� �� �\!1 

�(.<I" ? (�� �-�<tS �� ��-rn �·,) 

b) The height ( X ) of men in a population are normally distributed with standard

deviation 2·5. Calculate the confidence interval and test the hypothesis that

population mean is q9 when sample mean is 67 and sample size is 100.

�� �·� 9!� �l ( X ) ':ilf'51Pl<!> �� �f� � �<f>" �� 2·5 I .;i'1_if1 �� 67 ,!F:r�

�� "f��Jl 100 �-ca, ��<1> '>l� 69 �'6?:!HI ·<3)-.qJ�m,"'>T ��llc-f �<r� � '51� �WC9iTCQ.1f3:r>l:

'frl"� <fl�� 1·
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c) 
2 ESS 

Show that TSS = ESS + RSS and also show that r = --- . 

� C� TSS = ESS + RSS tSJ�� �� Cll' r2 
,:;- �_§S 

TSS 

TSS 

d) Deseasonalise the following sales data and interpret them :

Quarter · Sales (in Rs. '000)

1st 23·7 

2nd 25·2 

3rd 21-4
" 4th 65·4

c<i>rnt1� 
�C�HI 9f�'l 

('000 'Glffl) 

2f�� 23·7 

N�� 25-2

"{>-®� 21·4

b�(· 65·4

Seasonal Index 

0·78 

1·24 

0·50. 

1·48 

�'i>'l !j <lS 

0·78 

1·24 

0·50 

1·48 

e) ln a hypothetical data on consumption in relation to income for 30 families, the

following results were obtained

f) 

RSS
1 
= 377·17, d.f = 11 

RSS
2 

= 1536-8, d.f = 11

If F0.
05• 11• 11 = 2·28, examine whether there is heteroscedasticity or not.

C'S'f� .: 

RSS
1 

= 377·17, d.f = 11 

RSS
2 

= 1536-8, d.f = 11 

1.1�· F
0 .05, 11• 11 = 2·28 !'(ll, �C� t!l� �C�l hctcrosccdasticity �TC� �1 �1 9fID� �-�.;i I

s 
Prove that I r I ; --L' 

s 

s 
2i�'l <f)*'., C1.! I r I ·� sL. 
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Answer any one of the following questions: 

ECOA(HN)-07 

lx8=8 

a) 

b) 

i) Explain . the rationale behind the maximum likelihood method of

estimation. 3

ii) If the variances of independent and unbiased estimators T
i
, T2, 1� of

parameter e are in the ratio 2 : 3 : 5, which of the following estimators of

8 would you prefer most ?

i) 

ii) 

2J_1- 2
_
T

2 
+ T

3 
1; + T

2 
+ 2T

3 

4 4 

5 

For a population of six units, the values of a characteristic x are given 

below: 

3,9,6,5,7, 10 

Consider all possible samples of size two from the above population and 

show that the mean of sample means is exactly equal to the. population 

mean. 5

3,9,6, 5,7, 10 

t9fm-'@° -,,�r�C<:1'>� C�{<lS 'I� � f<lfirg ,r@� -;i�� f<rc� <fl�-, �<H �Ff � � 

Explain forecasting. 3 
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3. 

c) i) Find the trend for the following series using a three-year moving average 

5 

·Year: 1990 1991 1992 1993 1994 1995 1996 

Values: 2 4 5 7 8 10 13 

���: 1990 1991 1992 1993 1994 1995 1996 

'4M": 2 4 5 7 8 10 13 

. ii) What do you mean by coefficient of determination? 3 

Answer any two of the following questi9ns 2 X }5 = 30 

a) i) What are the properties of x2 distribution? 5 

ii) If xl ' x2, x
3

, ... , xn are rando!Il samples from a finite population with

mean µ and variance, cr2 and x is the sample mean, then show that

..!.. I ( xi -- x )2 is a biased estimator of cr2
• 

_n i=I

5

<F�l �� x
1
, x

2
, x

3
, ... , Xn �c, <.!l<l5ft- � �� C� 2fl� )jlj)j@:I ���1>11_� <.!l<f�

<.!I� '1..-r�K�� � �-a, µ· <.!l<f� � �cif cr2 I x ".ffe( �- � �- � 01� Q1 

1 n . 
. 

- I ( x
i 
-- x )2 • 0"2 -<.!I� <.!I� 9Mivrr�� 9frn�9f"<:15 i

n i.:I

. -. 
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iii) The mean IQ for a group of 25 children is 108-481, the standard deviation

is l 7·255. Test whether the observed mean 1s significantly greater than

i) 

100. ( Given loos. 24
= 1·711, t0.01, 24

= 2-492) 5 

25 �-f fit�� cl�it" �<:1� ���(IQ) �C'f 108-481 cl<r� �Pl�� 17·255 I 

� � �� � 100 C� 1R� C4M f<All ( Clf'Gm � foos 
24 

= 1·711,

to,01. 24 = 2-492)

Suppose estimated regression equation of y on xis y = 3 6 + 0 · 75x and 

n = 10. Oblain confidence limits of a and p at 95% level using 

t-distribution. 7 

� x-cl� ,m:� y-�� � �9 �49 f/=3·61 0,75x �·n

n
= 10 I t-���<JS@95o/o� Ct �<f� !3-cl����I 

ii) Two positively correlated variables x
1 

and x
2 

have variances s� and s�

respectively. Determine the value of the constant 'a' such that x
1 

+ ax
2 

i) 

s 
and x

1 
-1 -

1 x
2 

cµ-e uncorrelated. 
S2 . 

8 

,.m �<:15 �9ITTl<l��'& o� x
1 

�4� x
2 

-�� c��fcal ��� s� �<f� s� I · a' �� 

�:q�ft� � R� � �TN x
1 

+ ax
2 

cl<f� x
1 

+ 5-_ x
2 

�9fP.f� rfT � 1 

S2 

State and prove the Gauss-Markov theorem in CLRM, stating the basic 

assumptions. 8

ii) Is it possible to apply the OLS in a model Y =a.+ px
1 

+ u
i
, where

E(u.2)-cr2u K2X 2 ? 7
I I I 
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l. 

d) i) Consider the first order autoregressive structure u
1 

=- pu
t
--! + v

i 
with 

I p I < 1 . Determine the value of the error term by iterative process and 

also find out the mean and variance of the autocorrelated disturbance 

term. 3+3+3 

9i.9 '511� 9f�Ni� �t'91_9 9f1:f� �1�· -� �4>� <.!F:f� Autocorrelated ·��f�-'l<l'il� 

9ftl.t� � � C'S�- � Fl9Y � I

ii) Discuss briefly the vanous methods which can be used for. computing

seasonal index for time series data. 

Group- B 

�'51 .. � 

Answer any three of the following questions 

C1:f C<fll.f � ��- �-� �-

a) Show that in a two-person zero :sum game Minimax ::a: Maximin.

��16" ��Cc'lHTl�"T8' _,.-� C'-11� C� � � Minimax ;::: Maximax

6

3 X 4 = 12 

b) A risk averse individual is offered a choice between a gamble that pays Rs. 1,000 

with a probability of 25cyo or Rs. 1 00 with proba?ility of 75% and a· fixed income

of Rs. 325. Which one will he choose ?

Fl� �� �<711 C��R '5T� 1,000 �1,9fl�?-fl� �<AT 25% \!il�1 1 00 � 9fM� � 

75% I "5foff f.f<1>$'1ffl ?.i'c1. �-<flit �� '5/Hl <irn 91M-.i19 325 i,rc:r,i 1 � C<!SR f<r<!S�m � <fl1f'C<f ? 
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c) Set up and explain a 'diet . problem' as a standard example of a linear

programming problem.

�I 

d) A wine dealer possesses a particular quantity of wine which he can either sell at 

present time (t = 0) at Rs. 'K or store the amount which he can sell in future at 

higher value. Let the growing. value of wine be 'V and V = Ke./1 so that if t = 0

then V = K. Let the storage cost be nil. When will the dealer sell the wine to 

maximize his profit if the rate of interest is 10% ?

���� � N,Q'ff� � ��it ��j 91M�� � '511� � N>frf-.re�c�· (t = Ol K9!Rl..-i1Gt ��Tes, 

�11 � 9'Wfrf 1:51'�1 ������I � � W<lS � ffi � V

�'(J� V:;;; Ke..fi '5fQ{f'. �� t = 0 � V= Kl 

�., <IS:41 "tJFIS QT 1f<R� ���� � "'f{TI � � �1� 10% �� � �1 ,r���� �-{} 

("�'\ �n.I Ks"-Gfflf ffl -..� � <!)�t� ? 

e) · Assume that the cost functions of two firms producing the same commodity are

Determine the output levels of the firms on the assumption that each equates its 

private marginal ·cost to a fixed market price 240. Determine their output levels 

on the assumption that each equates its social marginal cost to the market 

price. 
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2 ..

�C'-:ir�iv �1� ��- \?T<X� <r1w� ffi�<f> �mi� �1� �Too� Lt1�r 240-�-�- �� ,rn\?1 '511;rn--1 �c� w

'5[zyt� i$�9ff\ft--r:<r 9f�1c.r � �� ? llN ��fa, -�1l'Hf ��i9T� 2fOO<!S <fIOl� "fC>'t � �� 

\!llT.:rn.::i <!'57:� '5t<.f \!lT�-:<r �� 9flvrc;.i� 9@�wr F<r>- �� R9'!T -w:-<to".;i 1

f) Derive the fundamental differential equation of . Solow growth model, clearly

stating the assumptions.

Answer any one of the following questions lx8=8 

a) Suppose that a producer offers two brands of product, for which the demand
functions are

Q ·--14...:.0.25 P 
I - I 

and the joint cost function is TC =-Q: + 5 Q1Q2 + Qi

Find out profit maximizing level of output, the price that should be charged for 
each brand and profit. 

�,--i <I>�.-! �qi�� %�9fl11<f> �re- 91�<1> ?Hr'\S-��- !FH qf,e'ilC� f�\8>� �c�r:i· �Tzyill 6�1-tl �'(9f�C<!S� 

">l�<!S�c.r�fa'l �� 

Q2 = 24 - 0 · 5 p2 

�-� <11� \!lft9f'lp<.f) �-<.f)�c.rfij· �c, TC"· Q� + 5 Q1Q2 + Q� 

2r�r<tilt sn'\!,-�� �...ii�1 ��Ill� ">11�.;c�1ID ��9fl'-ltrl� 9fBl�1� ��� 'fl��� Ri:nl <fi"¥rl", ��rn-

9ITTI�� Fl� -�?:lo.q I

c1 ·-== 2q; + 20q1 - 2q1% 

_G2 = 3q~ + 6 0q2 



121 

b) Consider the following inflation-unemployment model:

p = a - T - f3u -1 rot

dn . ( )--=J p-1t 
dt 

-�} -- k ( m -· p f , .

where p = rate of growth of price level 

u = rate of unemployment

n = expected rate of inflation

T = labour productivity

a., J3 > 0 ; 0 < h � 1 ; 0 < j s 1 ; k > 0 .

ECOA(HN)-07 

Find out the difference equation in the variable n. Show that the intertemporal
equilibrium is dynamically stable.

p = a -- T - J3u + h:n

dn . ( )-- ·= 

J 
p ··1t 

dt 

du 
dt=-k(m-p),

a., J3 > 0 ; 0 < h s 1 ; 0 < j � 1 ; k > 0

n ��� � ��ft � �� I 0NR QJ �l&:�cil.:r '5HPff�ft '>ffG� f1!'�G1

(dynamically stable) I 
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3. 

c) Consider the following linear programming problem (LPP) where 'w' and 'r

represent factor prices

Minimize C = 12w + 42r

subject tow+ 2r � 3 

w + 4r� 4

3w + r � 3 

w, r� 0. 

Form the dual of the above LPP and identify one basic feasible solution. 4 + 4 

C= 12w + 42r 

C<f�- · w + 2r � 3

w+ 4r� 4

3w + r� 3 

w, r� 0. 

Answer any two of the following questions : 2 X }5 = 30 

a) i) Present the Leontiefs two-industry input-output static open model as a 

simplified linear progr<:1-ffiming model. 9 

fc1'8ajt-�� If� fit� f<t1ire �� �� �if9fG-���9fG ��re �'5 · �N� 

C2fl��-<.!l �9f �\fT..f <ff(3f @-9f�9fofl ��of I 
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ii) An economy prqduces only coal and steel. The two commodities serve as

intermediate inputs to each other's production. 0·4 tonne of steel and

0·7 tonne of coal are needed to produce 1 tonne of· steel. Similarly

O··l tonne of steel and 0·6 tonne of coal are required to produce 1 tonne of

coal. No capital inputs are needed.

i) 

Do you think that the system is viable ? 2 and 5 labour days �e required

to produce 1 tonne of coal and steel respectively. If the economy needs 100

tonnes of coal and 50 tonnes of steel then calculate the gross output of the

two commodities and the total labour required. 6

�<l>fil �4t)R,� <f>"NG'll �<!� �ii'l· i'.g-�9f!N\5 � I �C\!il<flfG !i<!"l� \!if'i>f� �<l"Oij� �e_� ��

��TC<! <lT�\5 �?-I I 1 � �� ·@e.9ff� <fl�� C<SfC<l'f 0·4 � -.ma--,- �<!� 0·7 �. �

�'Srof �C� I '5l"'i�lf9f�IC<r 1 t-f �?-1'-il i:i,·e_9fllit� � 0· l �· � ��� 0·6 � ��17\l�

�1'9l� '511C� I '*11 C4>TCofT ��� 2f0l'T'ST.q � I

'5lT9fFI' � �Ci-! <H�il � <!Ff� ���l'ilf ? 1 � <fl1fci'ff.<I '9'f�T 2 1v � fl�"! ,�FH 1 'G'rf 

�k4i� @e.9fT>fC-BI '9l-U 5 \E � �<H?'I� 1.f�<ffil �� I � '!il�R,� �� 100 � �Tc.;T �<I� 

50 � -.mwi� �TiST-'f '<{K<f> 1;5C"� 'flv !1l<ITTI � �e.9fTlfC.:f� 9ff.'<f.1119 ��� 2fnJl>Si�� ��;g 

�9 ·f<i> �C<r '5T �"RT � I 

Consider the following demand and supply functions of a commodity 

Q
s
, == -- r f 8P, I ( r, 8 > 0) . \ ., 

Equilibrium condition is Q dt "'" Q st .

Derive the first order difference equatioh ·of price and find out the time 

path of price. Also analyse the condition for its convergence. . 8 

Qd, - a IH~ (a, [3 > 0) 
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Fr� � '{3 c��-1" @� ����¥1 f<rl<ID"11 �� :

Qst = - r + 8P
t 

.J ( r, 8 > 0)

ii} Consider the following demand and supply functions in a competitive

market:

d 
q = 1200--6? 

I I 

Find out equilibrium price and quantity. Consider the stability of the 

.adjustment to a· disturbance in the market. Find out the price level ( P} in 

the first five periods following a disturbance. that moves price 200 units 

above its equilibrium price. 

qs =2P 
I I l 

7 

\51��1 � '{3 9lf<r�n� l�r�Rt� � 1 \5BPH� c�� M�rft5 �c'4·. ,.,�� \5Hf')'f'JOO (�) 

� '51Pfl<I _W.-TI '31 �l <I>@ �� I 

~~~~ Qdt =Q~t 

~ 21~· ~ <n<t'(fR· W<;J)~~ ~ <fS"-:-4>rf 1 ~ ~r~~91Qf R'-fu ~ ~~~ w 

(~RPTJ'iH~ ~ ~~Cf ~~~ I 

~~ro· ~vn~ ~mr or~-rr '{3 ~1"!R wc~~ ,:r~'<!)~ct~~ ~ ~Qff~ 

q1 = 1200 - 6~ 

i~HPTl~T CQ!t<I> ~l'\5 ~~ lff~~ ( P) Wf \Sf."fflf fft~·w.i .C~ 200 ~~ C-~ ~ ~ 

21~ 9f1blt-~ ~ ~ ~l<f '51 CINR I 
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Let the demand and supply functions be

Q ct == 40 - 2P ··- 2P' - p•

Q -=-·5+3P s 

with P ( 0) = 12 and P' ( 0) = 1

Find P ( t) assuming market clearance at every point of time.

Is the time path convergent with periodic fluctuation ?

I P is price level. P' = dP and pw ::: d 2 P_ 
]

dt dt2 

Q -= --5 + 3P
s 

c-.:r-e�1 ·�re� P ( o ) = 12 \£]�� P' ( o ) = 1 

[ p = � P' = d� �"4� p• = d 2 �
dt dt

2 

ECOA(HN)-07 

10 

ii) Demand and supply f\lnctions for a commodity is given by

X ""{ 3P--30+50 d�}
s l dt 

P is the price at time t. If the initial price is 36, find th� time path of price ..

What will be the price at t = l O ? 5

Q d = 40 - 2P - 2P' - p w 

x = { 120 - 2P + 5dP } 
d dt 
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d) i)

C�ll.-11 !fC<fl� '61�\tl '8 C�'>l'Fl C��� ')oJ�<!i���� �c'1' 

x "- { 120 - 2P ·t- 5 d� } 
d dt 

1.Sr<l� X = { 3P _, 30 + 50 dP }
s . dt 

What do you mean by Nash equilibrium in the context of Game Theory '? 2 

,�� �fl� �T:<PlNr �C"fCG f<i5 C<lTr<:1frf ? 

ii) Find all the Pure-strategy Nash equilibrium for the following game. Check

whether they are dominant' strategy equilibrium and Pareto optimal

iii) 

outcome. 

Players A cllld 

High 

Low 

High 

Low 

B play a 

High 

(50, 50) 

(20, 10) 

High 

(50, 50) 

(20, 10) 

Low 

(10, 20) 

(15,15). 

Low 

(10, 20) 

(15, 15) 

game in which each player 

5

has three coins 

( 20p, 25p, 50p ). Each of them selects a coin without the knowledge of the 

other person. I( the sum of the values of the coins is an even number, A

wins B's coin. If the sum is an odd number, B wins A's coin. Develop the 

pay-off matrix with respect to. player A. Find the optimal strategies for the 

players. 8 

P ·~c~ t 'Jf~CTHI ~1-.i I <AA 2!TQfN<I> qi~· 36 ~ ~ 'Cf"WR ~~9f~ C-~ ~~- I t = 10 ~CC1", 

qi~~ ~"t<l"? 

RCb~ C~-\£1~ ~~~ ~~ ~~ -fWf '5l?Pil'm Rcfu <P""*'-l I \!l~Fci 2ff~rfJ C~cif ~ .. g 

'i>fJWlW! ffiT ~ ~ ~1 <:>~ : 
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A ��� B 'f�., �� �11-, �<l51,1 � �"1� ��if ��- � � � � 

{9rn')fl) � ( 20 "i>f:, 25 "i>f:, 50 "i>f: ) I �C� �� -� 9fWll �� �� � C'>f 

�1�<'11 Clf '51� <tlfu. C.4>11. ��fife �� ·<t>t�C.� I 1�C<'l?:I "i>f�"'t° ��l "i>f?Plf� C.��c'! �f?t 

'� ')j��n �� '!>-C<l A, B�� 9f�')flm C9f� �C.<I I ·\!ij�fMC<t> 't'Si1if� "i>f�l� �1'5'f�� �!?t

f«� ��� � "� B, A-� 9f� � � I �� �� A-� C"i>f-� � � 

� I 'l_'ffi �� � ��� C.� �<lo� I 
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West Bengal State University 

B.A./B.Sc./B.Com. ( Honours, Major, General ) Examinations, 2012

Duration : 4 Hours J

PART- III 

ECONOMICS - HONOURS 

· Paper - VIII

I Full Marks : 100 

Candidates are required to give their answers in their own words as far ds practicable. 

The .figures in the margin indicate full marks. 

� ��ffl �'$Bf '51<:lffi Cc,·� <fl,�hr I 

������,��I 

Gr�up - A 

�'Sf - � 

Answer· any two questions from Question Nos. 1 to 4. 

2P!P'l��m 1 ,�re� 4 -\£3� �-u:ir ,��Fr����-� � 1 

2 X 15 = 30 

1. Do you think that the 'new guaranter system' was better than old guaranter system in 

the history of railways in India ? . 15 

�l91R f<ls �C<l' �-�.;r � \5f�oo� CWT9f� �<PW'RI ��� 1_'5-, �fBllfu �f<l"!{T 9jyl� �ll�lfU <1�1if�. Co� 

�i:1��'1? 

2. What are the objectives of permanent settlement in British India ? What are its

features 'i> How far it helped India's ·agricultural development? 4 + 3 + 8 = 15

�'K1 �·c;5 fo�ID <re�,�� 2r�rrn 2r�.;r �l'itP'tl f<ls � ? ��1�r 2r�F1 �er f� � ? \ST�� ,� �mrc-:r

\£3� <fl<I� f<ls 'l>ffif�rcq ">TT�-ro �-c�c'f ?

3. Was the policy of 'Discriminating protection' contributed to Industrial development in

�ritish India 'r> Explain Critically. 15

rnre'K1 ·� 'FJO,!:M�¢1<:J) ���q' �fu" f<ls � � � �� ? �l61lb--illj_G1<:J) �llGilb<il � I
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4. What was the gold exchange standard as currency system in India? How far ii helped

India ? Why did this currency system break down in 1917 ? 5 + 5 + 5 = 15

�Wr<l� �>flC<f �T�� � �� �M � �C"'f ? <ll<l1tlft f<fs �'l �� �TV� &c, ? }�}q �

..Q� �£fl <IT<f'lU� � <lSf�'l �(;jf 91"("� ?

Answer any one question from Question Nos. 5 and 6 

�-,·ta �<r� �-�� �tfJC�� ����� �: 

5. Discuss the main functions of the Managing Agency System in Indian economic

history. 8

�l��� \51�,{N,<f) ��lc>i �urc--r�� ..QC� <lM1if � ��� <J>Tq<f� ��l �� I

6. Discuss the causes behind the decline of handicrafts in India during the British

7. 

period. 

&!?t \?lTTW1 �"TI!� �<!llirt�4 QT '5f<:1�1f ��� \,T.<l �'l�M \5lll411�1 � I

Write short notes on any three of the following : 

ClfC<.1)T� � f<l�GJ� ,e� � cc,� :

a) Drain theory.

'51�� Hffi-'l \,� I

b) Ryotwari system.

��'Om� �Ff� I

c) Recommendations of Fowler committee.

d) Basic features of colonialism in India.

�� C\!> '69f�fir�'-!l1� �� C��Pllf<! I

c) Irrigation system under British India.

�itltf �T�C"'5 �cilc>fb � I

f) Imperial preference.

��l<:1 C��,C�<vf I

!F-261 j

8

3 X 4 = 12
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Group - B 

�1f - 'QI 

8. Write an essay on any one of the following topics

R� B1
'"

l:rn�f¢1� � � �� �� � fc.r� : 

a) Inflation and unemployment.

�T�-.S �fflW

b) Theories of Oligopoly.

'5/�C'Sfl� ��� I 

c) The Neo-classical theory of employment and output.

\S4!.9fl\t.f '8 <1>��� '1�..C,l-t H-.S�TSi<1>1Tc'f �

d) The Problems of child labour in India.

�1��8!' fit� �fire�� ">!�Pm 1

e} Green revolution in India.

�I�� ">fi� f<t�-4 I

n Public distnbution system - the Indian experience. 

�'T�� <H<Hil - '61�� �N,��1 I 

g) Balance of Payments in India · Problems and Policies in recent years.

�T�� �C\t� � : �� <1>fC� "I� � �'5>t�� I 

h) Growth and stagnation in Indian industries during the plan period.

��T� �� fitOO!liBll� M'SfR5 '8 �

i) The environment and economic development.

} X 50 = 50



j) Theory of Public goods.

�<151� 91"�� �W I

131 

k) Monetary and Fiscal Policies in the 1SLM framework.

ISLM ��Cc,� ">fl�1�r \bl1fQI'<:f> '{3 �Wl �� <I�� I

1) Theory of Marginal Produ.ctivity.

��<!> ��'9fl"fC�� �'Q I

m) Choice of technique in a labour surplus economy.

� �'O ��R;-c;, ��9WR CfflCi �I

n) Problem of unemployment in India.

�1�i'6 C4<1>1� �"fll I

o) Balanced and unbalanced growth strategies.

�T�PIT�T'!,e'> �<l� �l�f)'f�l�.:i '©-s:fN� C(!)Wci! I

p) Disinvestment of Public sector in India.

\5Brl\!i� >1�<1>1ID c�cl'.£l� MPBr�� 1 
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